) d? o/ dy /dp_ (pb/GeV?)

T
= =
o o
N w

=
o

=

T

/(2 pip

Ratio to PHENIX

=
<
I

1072

0.5

200 GeV pp Z (Drell-Yan)
= I I I I I I | I I I E
- pi (PHENIX Drell-Yan) .
 m u H
= u =
- n =
_ n _
— | =
~ u -
= | | . —
= B PHENIX =
—— - -4-- Pythia 8.308 default-CD —
= --&-- Pythia 8.308 default-DL =

----- A Pythia 8.308 default-MBR N

- | | | | | | | | ] | |:

— T T T T T T [ T T 1 |:
1 1 1 1 1 1 | 1 1 1 |

0 4 6

Rivet 3.1.10, = 2.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


